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e Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the candidate. S
e Please check that this question paper contains 32 questions. L I S

e Please write down the Serial Number of the question before attempting it.

e 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 am. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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General Instructions :
(i) All questions in both the sections are compulsory.
(ii) Marks for questions are indicated against each.
(iti)  Question Nos. 1-5 and 1 7-21 are very short-answer questions carrying
I mark each. They are required to be answered in one sentence each, >
(iv)  Question Nos. 6-10 and 22-26 are short-answer questions carrying
3 marks each. Answer to them should not normally exceed 60 words each.
v) Question Nos. 11-13 and 27-29 are also short-answer questions carrying
4 marks each. Answer to them should not normally exceed 70 words each,.
(Vi) Question Nos. 14-16 and 30-32 are long-answer questions carrying
6 marks each. Answer to them should not normally exceed 100 words %
each. '
(Vi) Questions marked star (*) are value based questions.
(viii)  Answer should be brief and to the point and the above word limit should
be adhered to as far as possible. »

Que j
: Section A
s mm(m)sﬁwﬁwaﬁm 1

Define marginal revenue.

*2. mmﬁm’qwmﬁ%ﬁvmﬁmﬁw%lmémm%mﬁﬁ

. b

Unemployment is reduced due to the measures taken by the government. State its
economic value in the context of production possibilities frontier.

3. ‘@m%nﬁw’waﬁwt 1
Give meaning of ‘returns to a factor.’
4. ol YR & w srfr & 7 1

What is perfect oligopoly ?

58/1/3 2

. entbro.in
Get More Learning Materials Here : & m @& www.stud



5. st fom Y uftam s | 1

Define indifference map..

6.  SU-IH ITed ° gig I A€ R, frod fRR AN 1 SFaER Fa @l § ? e i
BAR 7 3

What is the behaviour of average fixed cost as output is increased ? Why is it so ?

7. Hra gEitd () oK oftad genfia (mm) % o= g9y saRy | 3
HAUST
Fel ARG IR T AR o S Jay T3 |
State the relation between marginal revenue and average revenue.
Or
State the relation between total cost and marginal cost.

8. U IR SIS H HH o T i 7 e S g 7 wwese | 3

Why are the firms said to be interdependent in an oligopoly market ? Explain.

b

9. “Toraes foTu 3caTea foman S Shesffe Eae 9w eS| . 3

Explain the central problem ‘for whom to produce.’

10. U IUTEAT 10 T, U IHE W H; 30 JHAT G ? | 9% hit hima A0 A=
()1 21 IusiiEar 9 %, Wid oS shind W gHehl feha geRrgal wliem 7wt
HifeT | 3

A consumer buys 30 units of a good at a price of Rs. 10 per unit. Price elasticity of
demand for the good is (—)1. How many units the consumer will buy at a price of
Rs. 9 per unit ? Calculate.

11. I &1 SIS A & =1 I 2 ¢ SIS At o fHgin e e e S | 4

- What is market demand for a good ? Name the factors determining market
demand. ‘

12. ftEdl sgumEl & a9 & 1gar Hiui 318 1 98 JaTsT | 36 SAGRR o hAu
HAATRY | 4

State the behaviour of marginal product in the Law of variable proportions.
Explain the causes of this behaviour.

58/1/3 J [RiT.0.
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13. qmwsﬁamhaaﬁamﬁmmﬁnm@mﬁﬁm%@maﬁmé

YIS Tt shY SARGT SHiTST | 4
HYAT
e STV e 3 egatt A 3R B %1 3usim G ® ofR wger A | ey
e a%q B <1 e et 2 ot asg B o #i sedi & | Iy ferveror Y wewdl 9
39 WY T IR Y |
A consumer consumes only two goods. Explain consumer’s equilibrium with the
help of utility analysis.
Or

A consumer consumes only two goods A and B and is in equilibrium. Show that
when price of good B falls, demand for B rises. Answer this question with the
help of utility analysis.

14, ¥ an i Refafed ge &, e anm Sl dinia st () % SR ;
o Ot BT e IeTEA T SIS | ShTC0 SATST | § Jeared o e oft Jrd <Rt | 6

Ieqred el TEITTe (37T %A AT
(3TS) (%.) (®.) o
| 7 8 :
2 14 15
3 21 21
4 28 28
5 35 36

From the following information about a firm, find the firms equilibrium output in
terms of marginal cost and marginal revenue. Give reasons. Also find profit at this

output.
Output Total Revenue Total Cost
(units) (Rs.) (Rs.)
1 7 8
2 14 15
3 2l 21
4 28 28
5 35 36
58/1/3 4
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15.

Note :

16.

17.

18.

19.
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Market for a product is in equilibrium. Supply of the product “decreases.” Explain
the chain of effects of this change till the market again reaches equilibrium. Use
diagram.

ﬁwﬁiﬁammgﬁawuﬂwrdﬁ%%qmd@Jrls%me%l
@aﬁmwﬁ@qﬁ%im?ﬁ{ﬁﬁ G’ ST 2 | ST 3 A Fger
mﬁmg&qﬁaﬁﬁ:méﬁaﬁuﬁaﬁ&j@mml%@aﬁtm%d@aﬁ
ot STt @ e shitse |

The following question is for the Blind Candidates only in lieu of
Q. No. 15.

Market of a commodity is in equilibrium. Supply of the commodity “decreases.”
Explain the chain of effects of this change till the market again reaches
equilibrium. Compare the prices at the old and new equilibriums.

ﬁwwﬁﬁwﬁmﬁmﬁwé@rﬁmﬁml
et

SR aeht @ d e FEEEe |
Explain the conditions of consumer’s equilibrium with the help of the indifference

curve analysis.

Or
Explain the three properties of the indifference curves.
ECLERC
Section B

Fom aTafd <t gftTen €T 7 1
Define aggregate supply ?
T et 3R afcaTe e | 1
Define government budget.
‘e B SRR R 7 1
What is ‘devaluation’?

5 [P.T.O.
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20. WSS @ R st 2 7 1
What are demand deposits

21. ﬁqﬁmﬁnﬁﬁﬁmaﬁﬁm ' 1
Define marginal propensity to consume.

22, Wm%ﬁaﬁﬁwﬁmﬁ—r&gﬁmm%mi@ﬁnﬁm?mwf 3
() a1 T B e = |
() FIR e W are =2 |

Is the following revenue expenditure or capital expenditure in the context of
government budget ? Give reason.

(i) Expenditure on collection of taxes.
(i1) Expenditure on purchasing computers.
23. ﬁaﬁﬁméﬁﬁﬁéﬁ%ﬁmamﬁnmm%ma? -3

How does giving incentives for exports influence foreign exchan ge rate ? Explain.

24. SR SR (amﬁum)ﬁvﬁsmﬁﬁqlmmmﬁumam@wwﬁﬁq |

on welfare ?

25, @%‘q@—m’mmmml 3
AT
3T & ‘ﬁﬁmww’mmmml
Explain the significance of ‘store of value’ function of money.

Or
Explain the significance of ‘medium of exchange’ function of money.

26.  TIH TG =12 7 a7 I | 3
Explain the meaning of balance of payments deficit.

27. T srefoee, W f dqem A 4, %ﬁﬁ%%ﬁmmwmm
‘Tﬁﬁ'ﬂ?"ﬁﬁm :
T 313 = 1500
(FaTaIT) Tareiarat 393 371 = 30
e 577 = 300 4

Calculate marginal Propensity to consume from the following data about an
€conomy which is in equilibrium

National Income = 1500

Autonomus consumption expenditure = 30

Investment expenditure = 300

58/1/3 6
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#28. Wqﬁaﬁ%az@aﬁ%ﬁwmmmméﬁélwﬁaaﬁ%w@
zgriar & 7 gHETs | 4

Government raises its expenditure on producing public goods. Which economic
value does it reflect ? Explain.

29, wa@ﬁqﬁmmaﬂi@%mmﬁl 4
AUdn
oy o 1 T SRl FEETEC |
Define money supply and explain its components.
Or

Explain the ‘lender of last resort’ function of central bank.

30. SR S T M%Wmmwaﬁmwmmﬁm
mﬁa%mwwmaﬁq?
(i) e Zr HRes =l HiE A |
(ii) %ﬁmmwmm@aﬁamﬁmwmmwl
(iii) mﬁma@u@m%ﬁqwaﬂﬁmmt 6

Giving reason explain how should the following be treated in estimating gross g
domestic product at market price ?

(1) Fees to a mechanic paid by a firm.

(i)  Interest paid by an individual on a car loan taken from a bank.

(iii)  Expenditure on purchasing a car for use by a firm.

31. wﬁﬂﬁwﬁﬁmﬁmmﬂé@qmiwﬁﬂmm
Wiwmm%ﬁaﬁwmé@qﬁqéﬁ systeaeen & 1 aREda

AN 6

e
wﬁna&ﬁﬁaaﬁmm%aﬁmmwﬁ'mﬁmmlmﬁ%ﬁmm
Fifsre |

Explain national income equilibrium through aggregate demand and aggregate
supply. Use diagram. Also explain the changes that take place in an economy
when the economy is not in equilibrium.

Or
Outline the steps required to be taken in deriving saving curve from the given
consumption curve. Use diagram.
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e Fafafed g Fae gfedm adenfeat & fog uw @@ 31 F Em e |
T [ Y wftarer € | wEw A SR ' gfd o gerEd | U HE w1 Hde
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Note : The following question is for the Blind Candidates only in lieu of
Q. No. 31. :
Define aggregate demand. Explain national income equilibrium through aggregate
demand and aggregate supply. Also explain the changes that take place in an
economy when the economy is not in equilibrium.

Or :

What is saving function ? How it is derived from the consumption function ?
Explain.

32. frafafaa @ FnE o w fas 2 () 3ar’ o frew e wse o’

&1 ufishers i
(=)
()  Toeu =t faa Isfia () s 5
(i) TR AT 39 =g 100
(iii) frae stocger =X 80 R
(v) Fisft rfem sovim = 300
(v) 3T YSil ST 399 20
(vi) Tehel Qe oT=re gsit fmfor 50
(vii) THae mama ()10
(viii) Ao w2 25
(ix) ARH W 25
(x) Toeu =t Fae 7 o 10 42

Calculate net domestic product at factor cost and net national disposable income
from the following :

(Rs. Arab)
(1) Net current transfers to abroad 5
(i)  Government final consumption expenditure 100
(i11)  Net indirect tax 80
(iv)  Private final consumption expenditure 300
(v) Consumption of fixed capital 20
(vi)  Gross domestic fixed capital formation 50
(vil)  Net imports ()10
(viil) Closing stock 25
(ix)  Opening stock 25
(x) Net factor income to abroad 10
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SENIOR SCHOOL CERTIFICATE EXAMINATION
MARCH-2014

MARKING SCHEME — ECONOMICS (Delhi)
(SET - 3)
Expected Answers / Value Points
GENERAL INSTRUCTIONS:

1. Please examine each part of a question carefully and allocate the marks
allotted for the part as given in the marking scheme below. TOTAL MARKS
FOR ANY ANSWER MAY BE PUT IN A CIRCLE ON THE LEFT SIDE WHERE THE
ANSWER ENDS.

2.  Expected suggested answers have been given in the Marking Scheme. To evaluate
the answers the value points indicated in the marking scheme be followed.

3.  For questions asking the candidate to explain or define, the detailed explanations
and definitions have been indicated alongwith the value points.

4.  For mere arithmetical errors, there should be minimal deduction. Only % mark be
deducted for such an error.

5.  Wherever only two /three or a “given” number of examples / factors / points
are expected only the first two /three or expected number should be
read. The rest are irrelevant and must not be examined.

6. There should be no effort at “moderation” of the marks by the evaluating
teachers. The actual total marks obtained by the candidate may be of no
concern to the evaluators.

7.  Higher order thinking ability questions are assessing student’s understanding /
analytical ability.

8. {;} indicates value based questions.

General Note : In case of numerical question no mark is to be given if only
the final answer is given.

. Distribution
A3 Expected Answer / Value Points of Marks
1 MR is addition to TR on account of selling or producing one more unit of output. 1
) The economic value of reduction in unemployment is that it will help the economy 1
‘X:X’ in realizing its production potential.
3 Returns to a factor refers to change in output when only one input is changed, 1
other inputs remaining unchanged.
4 | If in an oligopoly market firms produce homogeneous products, it is called perfect 1
oligopoly.
5 | The set of indifference curves of a consumer is called indifference map. 1
Pg. 1
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6 AFC falls continuously as output is increased.
It is because, even when output is increased TFC remains unchanged.
(Diagram not required)

When MR < AR, AR falls
When MR = AR, AR is constant
When MR > AR, AR rises

OR
When TC rises at a decreasing rate, MC falls.
When TC rises at an increasing rate MC rises. 3
When TC rises at a constant rate MC is constant.

8 | When there are only a few firms in the market, it is likely that each firm has some
knowledge as to how its rivals operate. Each firm expects reactions from the rival
firms. Therefore, each firm in deciding price and output, takes into account the
expected reactions by the rival firms. In this way the firms are interdependent on
each other.

9 For whom to produce means that who will buy the goods and services produced.
Clearly, those who have income will be able to buy. So, the problem amounts to
how the national income is distributed in an economy.

10 Ep-gxi_g 1

10 ,AQ 1
30 -1

— _ Y
10AQ =30 or AQ=3

The consumer will buy Q + AQ = 30 + 3 = 33 units 7

-)1=

(No marks if only the final answer is given)

11 | Market demand for a good is the sum of quantities which all the individual buyers 1
of the good are willing to buy at a given price during a period of time.
The determining factors are

(i) Own price of the good

(ii) Prices of related goods

(iii)  Income of the consumers

(iv)  Tastes and preferences of the consumers.

(v) Number of consumers (% x 6=3)

(vi) Distribution of income.

(Statements only)

12 | There are three phases of change in MP :

(1) MP rises : Because when the variable input is increased, efficient utilization of
the fixed inputs takes place due to specialisation. This raises efficiency of the
variable input.

(2) MP falls but is positive: Because beyond a point increasing variable input puts
pressure on fixed inputs leading to decline in efficiency.

Pg. 2
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(3) MP _continues to fall and is negative: Because there is so much pressure of the
variable input on the fixed inputs that total product starts declining. 4

(To be marked as a whole. Diagram not required)
13 Assuming that the only two goods the consumer consumes are X and Y, the
conditions of equilibrium are :

(1) 72 ===

Py Py 1
(2) MU falls as more is consumed %
Explanation :

MU, _ MU . . A
(1) Suppose P—" > P—y .The consumer will not be in equilibrium because per rupee
X y

MU of X is greater than per rupee MU of Y. This will induce the consumer to buy 2
more of X by reducing expenditure on Y. It will lead to fall in MUx and rise in MUy.
MU

This will continue till 22 = =2

X Py
(2) Unless MU falls as more of a good is consumed the consumer will not reach %
equilibrium.

. MU,y .
(Explanation based on M < P—y is also correct.)
x y
OR
Given 4 = MUs ( Consumer is in equilibrium)
Py Pp

Given that Pg falls, then
MU 4 <MUB (OrMUB >MUA)
Pa Pp Pp Py

Since per rupee MU of B is higher than per rupee MU of A, the consumer will
reduce expenditure on A and increase that on B. So, when P3 falls, demand for B

rises. 4
14 Output TR TC MR MC
1 7 8 7 8
2 14 15 7 7
3 21 21 7 6
4 28 28 7 7 Equilibrium
5 35 36 7 8 2
The producer is in equilibrium at 4 units of output 1
Reasons (1) MC=MR 1
(2) MC > MR after equilibrium i

Profit=TR—-TC=28-28=0

Pg. 3
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- OP1lin equilibrium price & 0Q1 equilibrium quantity.

- When supply decreases, supply curve shifts to the left. S, is new supply
curve.

- This creates excess demand A;E; at the existing price OP;.

- The excess demand leads to competition among buyers causing price to rise.

- Rise in price leads to fall in demand along the D— curve and rise in supply
along the S, curve as indicated by the arrows.

- These changes continue till the market reaches new equilibrium at E, with a
higher price OP;, and lower quantity 0Qs.

For the Blind Candidates

Decrease in supply will result in excess demand at given Eq. price. This will result in
competition among buyers. The price will rise. Demand will fall and supply will rise.
These changes will continue till price falls to a level at which demand and supply

equal.

The new equilibrium price will be higher than old equilibrium price.

16

Let the two goods the consumer consumes be X and Y.

The two conditions of equilibrium are :

(1) MRS = 2%
Py

(2) MRS falls as more of X is consumed in place of Y.
Explanation :

1) Suppose MRS >—=i.e. consumer is not in equilibrium. It means that to obtain
P
y

one more unit of X consumer is willing to sacrifice more units of Y as compared

to what is required in the market. The consumer buys more of X. MRS falls and

. - P - I
continue to fall till it is equal to P—x and the consumer is in equilibrium.

y

(2) Unless MRS falls as consumer consumes more of X , the consumer will not
reach equilibrium again.

(Explanation based on MRS < i—x is also correct)
y

Get More Learning Materials Here : & m &N www.studentbro.in
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OR

The Three properties are
(i) IC slopes downwards from left to right.
(ii) IC is strictly convex 1x3
(iii) IC to the right has higher utility.
Explanation :
(1) Slopes downward because to consume more of good X, the consumer must give 1
up some quantity of good Y so that the consumer remains on the same level of
satisfaction.
(2) Strictly convex because it is assumed that MRS continuously falls due to the law 1
of diminishing marginal utility.
(3) IC to the right has higher utility level because it is assumed that higher 1
consumption means higher utility.

SECTION - B

17 | Aggregate supply is the value of total quantity of final goods and services planned 1
to be produced in the country during the year.

18 | Government budget is an annual financial statement showing estimated receipts 1
and estimated expenditure of government.

19 | Devaluation is said to occur when the exchange rate is increased by the official 1
action (government) under fixed exchange rate system.

20 | The deposits which can be withdrawn from the banks on demand, through cheques. 1

21 | MPC is the ratio of ‘change in consumption expenditure’ to ‘change in income’ 1

22 | (i) Expenditure on collection of taxes is revenue expenditure because it neither 1%
creates any asset nor reduces any liability.

(ii) Expenditure on purchasing computers is capital expenditure because it creates
assets.

23 | Incentives for exports are aimed at increasing exports. Increase in exports will bring 3
more foreign exchange into the country .Demand for foreign exchange remaining
unchanged, exchange rate is likely to fall.

24 | Externalities refer to the benefits (or harms) a firm or an individual causes to 1
another for which it is not paid (or penalised)

Example : Polluting river by an oil refinery Or any other relevant example. 1
Impact : Reduces welfare through negative effect on health 1

25 | The significance of money as a store of value is that money can be stored for use in
future. One can use one’s present income in future because money comes in 3
convenient denominations and is easily portable.

Pg. 5
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OR

Medium of exchange function has solved the problem of double coincidence of
wants. The buyer can pay money to the seller and the seller in turn can buy what 3
he wants to buy. Money facilitates the exchange.

26 | Deficit in the BOP occurs when autonomous foreign exchange receipts fall short of
autonomous foreign exchange payments. Autonomous transactions are those 3
which are not influenced by other transactions in the BOP.

27 |Y=¢ + MPC(Y) + I 1%
1500 = 300 + MPC (1500) + 300 1%
1500MPC = 1500 - 300-300 = 900 1

MPC = 2= = 0.6

(No marks if only the final answer is given)

<):(> 28 | Increased expenditure by government on public goods like defence, maintaining
law and order etc. increases their availability to the people of the country. For
example more expenditure on maintaining law and order raises the sense of 4
security among the people. Any such expenditure raises welfare of the people.

(To be marked as a whole)

29 | Money supply refers to the stock of money in the country on a particular day. It has
two components : Currency with public outside the banks and demand deposits 4
with banks. Demand deposits are deposits which can be withdrawn by writing
cheque. Both these are directly usable for carrying out transactions at will.

OR

Lending of money by the Central Bank to commercial banks in times of emergent
need is referred to as the ‘lender of last resort’ function of the central bank. a4

30 | (i) Fees paid to mechanic by a firm is not included because it is an intermediate
cost of the firm. 2

(ii) Interest paid by an individual is not included because the loan is taken to meet
consumption expenditure and therefore interest paid on such a loan is not a factor 2
payment.

(iii) Expenditure on purchasing car by a firm is included because it is an investment
expenditure, a final expenditure. 2

(No marks if the reason is not given)

Pg. 6
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31

AD 1

45°

- %
© ™M Tmcome

The national income is in equilibrium when AD = AS. In the figure the equilibrium is
at E, the intersection of the AD curve and the 45° line. The equilibrium income is 2
OM.

When the economy is not in equilibrium AD is not equal to AS. Suppose AD > AS, it
will lead to fall in inventories with the producers. The producers in turn will produce 3
more to reach the desired level of inventories : This raises AS till it becomes equal
to AD.

(Answer based on AD < AS is also correct)

OR

ol

S

Steps :

(i) CC, is the given consumption curve on OY axis take OS; equal to OC.
(i) Draw a 45° line from point of origin. It intersects CC at B.
(iii) From point B draw a perpendicular on OX which cuts OX at B;.

3
(iv) Join S; and B, by a straight line and extend it to S.
(v) SS;isthe saving curve
For Blind Candidates
1

- The sum of demand of all goods and services is called aggregate demand.

- Equilibrium level of income is that level of income at which aggregate demand 2
and supply are equal.

- When the economy is not in equilibrium then aggregate demand and supply

are not equal. Suppose aggregate demand is greater than aggregate supply. 3
This will reduce inventories. To make up this deflation producers will produce
more.

- This will increase aggregate supply and ultimately it will become equal to
aggregate demand.

Pe. 7
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OR

Relation between saving and income is saving function )
C=C+MPC (Y)
S=Y-C
=Y —C+ MPC (Y)
=—C+(1-MPC)Y
This is derivation of saving function from C function. 4
32 | NDPy=iv+ ii + (vi+ viii — ix) - vii -v — iii 2
= 3004100 + (50 + 25-25)-(-10)-20-80 1%
= Rs.360 Arab A
NNDI = (NDPfc + iii-x)-1i 1
= 360 +80-10-5 %
= 425 Arab %

(No marks if only the final answer is given)

Pg. 8
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